R TESFIIIFK

| psEare [Sf024E (20204%)

| mene [mEssa

BEERIER

REES 0029 BEXS — 1% / M
REERRE =E EATOIERI S BEATER | SHEEAL: 2
PO Rl X7 LR CURRET 0 /0P~ | jygeper %1

BAsSER %H IERFRER 2

BRIE/ B Tech Talk Pre-Intermediate textbook (Oxford University Press)
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"In order to attain the goal of A-1 and F-2, students will develop skills and gain confidence in English communication (A-1) through
opportunities to express their opinions and ideas in various contexts relevant to their future careers (F-2)."
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SHEE 1 Skills to communicate in English | Skills to communicate in Inadequate skills to
haie effectively and confidently. English. communicate in English.
FHiIEE 2 sHIlﬁlgl practical English listening English listening skills. éﬂﬁlchuate English listening
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e The purpose of this course is to encourage students to build specialist vocabulary and language skills that

enable them to communicate more confidently in their chosen technical fields. (A-1)

Lessons will be structured around class discussions and group work, along with reading and listening

BEDEDT - L assignments.

Grades are based on attendance, class participation and the completion of homework assignments (40%) and

AR tests (60%). An average grade of 60% is required to pass this course. (F-2)
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1A Introduction Outline of units
2;8 Unit 1 Opening and closing Emails
38 Unit 2 Features and benefits
3rdQ 43E Unit 3 Giving instruction
58 uUnit 4 Explaining processes
61 Unit 5 Request and offers
78 Unit 6 Planning
o 8iE Test Unit review
9B uUnit 7 Equipment documentation
10:E Unit 8 Causes and results
118 Unit 9 Materials
4thQ 12:8 Unit 10 Explaining how
138 Unit 11 Making predictions
14:8 Unit 12 Handling complaints
158 Final test Unit review
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